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4.1. Two balls are chosen randomly from an urn con-
taining 8 white, 4 black, and 2 orange balls. Sup-
pose that we win $2 for each black ball selected
and we lose $1 for each white ball selected. Let
X denote our winnings. What are the possible val-
ues of X, and what are the probabilities associated
with each value?
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A gambler has a fair coin and a two-headed
coin in his pocket. He selects one of the coins
at random; when he flips it, it shows heads.
‘What is the probability that it is the fair coin?
Suppose that he flips the same coin a second
time and, again, it shows heads. Now what is
the probability that it is the fair coin?
Suppose that he flips the same coin a third
time and it shows tails. Now what is the prob-
ability that it is the fair coin?




